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Answer all the following questions(1x15=15)

MULTIPLE CHOICE QUESTION (MCQ)

Choose the correct answer from the alternatives given in each question:
1. The square of (z + 3y) Is
(a) 22 + 3zy + 0% (b) 22 + By + 6p?; (c) 2? + By + 0y?; (d) 27 + dzy + 82,
2. The square of (22 - §y) Is
(a) 422 - 22y + 4% (b) d2? = 22y + 1% (¢) 2% - 22y + 3y (d) 227 - 22y + W2
8. If 32 + 2y = 12 and xy = 6, then the value of 0x* + 43 is
(a) 72; (b) 54; (c) 76; (d) 60.
4. The value of (106)? by using an algebraic identity s
(a) 11060; (b) 12025; (¢) 11075; (d) 11025,
8. The value of (99)? by using an algebraic identity Is
() 9701; (b) 9801; (c) 0861; (d) 9821,
6. The value of the product (2 + y)(2z = ) is
(n) 422 + y?; (b) 2? = 4% (c) 422 = *; (d) 222 = 2.

7. The value of 98 x 102 by using an algebralc identity Is
(n) 9096; (b) 9904; (c) BO08; (d) VO8O,



8. The value of (097)? by using an algebralc identity is
(n) 993000; (b) 995000; (¢) 996009; (d) HO4000,
9. The value of 104 x 106 by using an algebrale identity is
(a) 11014; (b) 11024; (c) 11048; (d) 11054,
10, The product (§ + ¥ +1) (§ ¥ ~1) is
() 2 = b2 =y+ 1 (0) fe? + M =y =i (e) Ju? = P =y =1 (d) § = QP+ p+ 1,
11, The value of the product (z + y)(x = y) (2* + %) (2* + ) s
(a) «® = 3% (b) 2% = % () ™ 4y (d) 2t = .
12, If 2 + 4 = 3, then the value of z* + J¢ Is
(a) 81; (b) 48; (c) 49; (d) 47.
18, If 27 4 Jy = 23, then the positive value of # + & Is
(n) 3; (b) 8; (c) 6; (d) 4.

14. Using an identity the value of 0.66 x 0.50 + 0.44 x 0.44 + 2 x 0.50 x 0.44 Is
(a) 1; (b) 2; () 0.9; (d) 0.8.

15. If 227 4+ 2y + 227 - 22y —~ 2y2 ~ 222 = 0, then
a)z=y (b)y=3;(c)zmgy=3 (d) a= 2
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